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1. Teacher : What should we do to protect wildlife?

Alan : We should stop hunting animals.
Teacher : You are right, Alan. What else?
Alan : We should - - - -.

Which of the following completes the conversation
above?

A) build more buildings
B) hunt the wild animals

C) educate people about wildlife

;

D) live in the rainforests

A The Giant Pandas

Which of the following does NOT have an answer in
the poster above?

A) How tall are they?

B) Where do they live?

C) How long do they live?

D) Why are they becoming extinct?

3. Nancy: Let's play “Guess the Animal’. There are four

animals. The first animal is a herbivore. It eats
the leaves of the trees. It has a long neck.

Mark :1know it Itis----.It's my turn. It is a carnivore,
and it can swim. It has sharp teeth.

Nancy: Isit----?

Mark : No. Itis a reptile.

Nancy: Then, itis - - - -.

Mark : That’s true.

Which of the following animals complete the blanks
CORRECTLY?

A) an elephant / a shark / a crocodile
B) a giraffe / a crocodile / a shark
C) a giraffe / a shark / a crocodile
D) an elephant / a crocodile / a shark
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Answer questions 4-5 according to the text below.

Irish Deer (Giant Deer)

They were the largest deer in the world.
They became extinct about 9.000 years
ago. They lived in Ireland. They were 2.1 m
tall and about 700 kg weight. Their horn
weighed 40 kg. They were herbivores.
They became extinct because people
overhunted them.

4. Which of the following is NOT correct?

A) Giant deer lived in Ireland.

B) Irish deer were big animals.

C) They never ate other animals.
D) They couldn’t find enough food.

5. Giant deer - - - -

A) weren’t carnivores

B) didn’t have horns

C) were in safe

D) hunted other animals

It lives both in water

and on land. It is a reptile.

It is a carnivore.

It has got sharp and
big teeth.

According to the information above, which animal is it?

A) An elephant
B) A crocodile
C) An eagle

D) Atiger
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7. Sam and Mike are playing a “YES or NO” game.

Sam: Is it a mammal?

Mike: Yes.

Sam: Can it fly?

Mike: No.

Sam: Can it run?

Mike: Yes.

Sam: Does it live in the jungle?
Mike: Yes.

Sam: Does it roar?

Mike: Yes.

Sam: Oh, I find it. Itisa - - - -.
Mike: Yes.

Which of the following CANNOT be Sam’s answer?

A) lion B) tiger C) fox D) bear

Answer questions 8-9 according to the information
below.

THE RHINO THE LEOPARD

. Rhnos areherlvores.
A rhino has a long horn.

* They can weigh up to
2500 kg.

* Males live alone.
* Rhinos are in danger.
* They live on land.

* They are fast, and they
run up to 58 km/h.

* They live in Africa and
South Asia.

* They sleep during the
day and hunt at night.
8. There is NO information about Rhino’s - - - -.

A) weight
C) eating habits

B) lifespan
D) natural habitat

9. Which of the following does NOT have an answer?

A) When did rhinos become extinct?
B) How much does a rhino weigh?
C) When do leopards sleep?

D) What do leopards look like?

* Leopards are carnivores.

» They have black dots on
their fur.
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The table below shows some information about giraffes.

Class Mammal
Weight about 4000 kg
Lifespan about 45 years
Habitat Forest in Asia
Diet Grass, leaves

According to the table above, giraffes - - - -.

A) live in the mountains of Asia

B) are huge and very heavy animals
C) are poisonous reptiles

D) live less than twenty years

Melissa asks a question, and her friends answer the
question.

Melissa: - - - -?

Peter : We should stop deforestation.

Kyle : We shouldn’t pollute the air and water.
Sean : We should donate money for wildlife.
Austin : We shouldn’t waste energy.

Which of the following can be Melissa’s question?

A) When do people cut down trees

B) What kind of animals do you know
C) Why are some animals endangered
D) What can we do to protect wildlife

Andrew is doing a matching activity about protecting
animals.

Ol01010

Keep seas  Cut down Wear fur  Save natural
clean trees habitat

Which of the following is the CORRECT answer to the
activity?

We should We shouldn’t
A) [-1v -1l
B) -1V (-1
C) -1 -1V
D) [-11 -1v




